Cnpaska pacuyera HopMaTHBOB 3a 1 kBapTaJu 2021 roaa

Pacuer H1: 1 438,871/1 110,954 =1,30 rne
1. 1438,871= (ctp.1600 bamanca)/
2. 1110,954 (pacur.crp.1530 Bananca (o6s13aTenbeTBa IO IOTOBOPAM JIOJIEBOTO yYACTHS))

Pacuer H2: 310,815/325,868 = 0,95, rue:

1. 310,815 =(1009,415 ctp.1100 bananca+354,890 ctp.1230 Banarca +0,00 cTp. 1240
Bananca — 1 004,570 ctp.1150 Banauca (He3aBepIIEHHOE CTPOUTENBCTBO) -48,920
(IeHeXHBIE CPECTBA YYaCTHUKOB J0JIEBOI0 CTPOHTENILCTRA, HpeIIOCTaBJIeHHLD{ c
OTCPOYKOH IIaTeXa)).

2. 325,868 =(0,639 cTp.1400+1 436,183 cTp.1500 bananca) — 1 110 954 (cymma
0043aTeNBCTB M0 JOTOBOPAM J0JIEBOT0 Y4acTH:)). £
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